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1. Do not tum over this page until you are told to do so.

2. Follow all instructions carefully.

3. Answer all questions.

4. Shade your answers in the Optical Answer Sheet (OAS) provided.
5. The use of calculators is NOT allowed.

Name: ( )

Class: Primary 6 ( )






Questions 1 to 10 carry 1 mark each. - Questions 11 to 15 carry 2 marks each. -
For each question, four options are given. ~ Ohe of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Sheet. (20 marks)

1 Round 748 850 to the nearest hundred.

(1) 748800
(2) 748900
(3) 748950
(4) 749 000

2 10 hundredths and 75 thousandths is

(1) 0.085
(2) 0.175
(3) 0.760

{4) 0.850



in the -number line below, what is the value of Y és indicated by the
arrow?

L] -1 L L L L L 1
1 I } i ! 1 1 1

8.025 - 8.115 i

v
(1) 8.130
(2) 8.145
(3) 8.160
(4) 8.175

Which pair of fines in the square grid are parallel?

(1) AHandBE
(2) Gland AC
(3) ABandHF

(4) BDandEF



5 BCE and DAB are straight lines. Find ZDAC.

(1) 148

(2) o4
(3) 86°
(4) 62°

6 PQRS is a trapezium and RSTUis a parallelogram.

P T S

Q U R

Which of the followjng pair of angles gives a sum of 180°?

(1) «£QPTand ZPTU
(2) ZTSRand ZUTS
(3) <«TURand ZTSR

(4) ZPQU and ZURS



7 Which two of the foliowing are nets of a cube?

A B C D
(1) AandB
(2) AandC
(3) Band C
(4) Cand D

8 Huiling had $z. Ravi had twice as much money as Huiling. Jas had
$5 more than Ravi. If Jas had $10, how much money did Huiling have?

(1) $30.
(2) $7.50
(3) $3
(4) $2.50



9 The pie chart shows the number of four types of drinks sold in the
school canteen. .

Which bar graph best represehts the information in the pie chart?

4} '
Number
of drinks
sold l
=_ N
A B C D
(2)
Number
of drinks
b1 B
A B C D
(3)
Number
of drinks
sold
_I B =
A B C D
(4)

Number .
of drinks
sold I
A B C D



10 Which of the following is likely to be

11

canteen?

(1) 1.8cm
(2) 18cm
(3) 1.8m
(4) 18m

the length of a bench in the school

. 4
Which of the following fractions is closest to 5 ?

(1)

(2)

(3)

4

O~ 3| ol w

ole



12 The square grid shows the positions of the buildings U, V, W, X, Y and

Z. .
| Christine’s House
/
¢
U
9
N
Vv w
*— ® T
Z Y X
*—@ @

Christine stands at a location south-west of her house and east of a
building. When facing south-east from Christine’s location, she sees a
building. What is that building?

(1)  Building W

(2) Building X
(3) BuildingY
(4) Building Z



§

l

- 13t What is the length.of the pencil shown below?

em § 0 f 1n

ot

unlm||uul|m|nnl1 ulnnhmlunh

IHT[]III]I[I IIIIH'IIIIHIHIIIH]H IIIHH .

dem

(1
(2
3)
(4)

5 6 7o

5.2cm
5.4 cm
5.6 cm

10.7cm

8
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e

15

Viv, Wendy and Xinyi each had some beads. They each used the same

: 1
number of beads to make a necklace. Viv used 5 of her beads,
7 3
Wendy used 3 of her beads and Xinyi used ) of her beads. What

was the ratio of the number of beads Viv had at first to the number of

beads Wendy had at first to the number of beads Xinyi had at first?

1) U A 3
2 3 | 8 ﬂ: 4
@ 8 : 21 : 18
(4 63 : 24 : 28

The first 7 numbers of a number pattem are given below.

4, 16 , 8 , 32 , 16 , 64 , 32 ,..
18t 7h

What is the 13" number?

(1) 128
(2) 256
3) 512
4) 1024
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. : (5 marks)

16  Mr Ahmad had 2 bags of marbles. One of the bag contained 6 red
marbles and 3 blue marbles. The other bag contained 2 red marbies
and 4 yellow marbles. What fraction of the totalmaibles from both bags
were red marbles? :

Ans:

17  Find the vailue of 3.707 L + 1.373 1
Express the answer in litres and millilitres.

Ans: ! mi




18 There are 5 shaded squares in the figure. Shade 5 more squares to
form a symmetric figure with XY as the line of symmetry,

19 The solid below is made up of 1 -cm cubes. What is the volume of the
solid?

Ans: cm?3




20  Parminder stacked 14 unit cubes and giued them together to form the

solid below. -
Top view
[ ] L ] I [ ] »
[ ] L ] [ ] | ]
1 . : N
» [ ]
[ ] | ]
[ ] [ ]
[ . s *
[ ] &
[ ] L ] [ L ]
Front view * * * * 7 Side view

Draw the side view of the solid on the grid below.

Side View
L J L ] [ J L J - L J L L ]
L ] [ ] ] [ J ® - » ®
[ ] L J v [ - [ ] L ] »
[ ] L J * - * - L J L
L L » L L ] L] L L ]
- [ ] - L J - » [ ] [ ]




Questions 21 to 30 carry 2 marks each. Show your working clearly and ‘write' .
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 Afaulty traffic light had its red light blinking every 2 seconds, its amber
light blinking every 3 seconds and its green light blinking every 8

seconds. If all three lights blink now, how many seconds later will they
all blink together again?

Ans:




22  Mrliew paid $78.59 for a pair of shoes and $19.90 for a towel.

(@) How much did he spend altogether? Round the answer to the
nearest dollar.

Ans: (a) $

{b) Find the cost of 30 such towels.

Ans: (b) $

23  Adaycamp lasted 8h 20 min. The day camp started 1 h 45 min before
the snack break. Snack break was at 11.30 a.m. What time did the
day camp end? Give your answer in 24-hour clock.

Ans:




24  |n 2021, Maggie saved 20% of her monthly salary of $3000 each month.
in 2022, Maggie received an increase in her monthly salary and she
saved $180 more per month. What was the percentage increase in
Maggie's monthly savings?

Ans: %

25 There were 1338 big buns and 7982 smail buns in a factory. The buns
were packed into bags. Each bag contained 1 big bun and 6 small .
buns. What was the greatest number of bags that could be packed?

Ans:




. 1 2
26 Mrs Chen sold 3 of her apples on Monday. She.sold 3 of the
remaining apples on Tuesday. Mrs Chen had 14 apples left after
selling apples on Monday and Tuesday. How many apples did Mrs
Chen have at first?
Ans:
. ' 1t .
27  Mary had a roll of ribbon with a total length of 1 m. She cut off i of

the ribbon. The remaining length of the ribbon was cut into shorter -

1 1
pieces of length 3 m each. At most, how many pieces of -é-m long

ribbon did Mary have in the end?

Ans:




28 In the figure below, KLMN isa tfapezium and LM is parallel o KN.
3
ZEMN =48 and ZMNK is > fimes of ZMLK. Find ZMLK

M L

o

Ans: °

29  ABEF and BCDE are parallelograms. ZFAB = 114° and ZEBC = 78°,
Find £DEF. :

Ans:




30

Pam Bakery uses m kg of sug.ar each month. Pam Bakery uses 30 kg
more sugar than Sweet Bakery each month. If m = 100, how many
kilograms of sugar do Pam Bakery and Sweet Bakery use in total for one
yeat?

Ans: kg

End of Paper
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Questions. 1 1o 5 cammy 2 marks each. Show your working clearly ai;ld write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. . (10 marks)

1 The original price of a book was $k. David bought 15 such books.
After he was given a discount of $10, he paid a total of $110. What was
the original price of one such book? '

g

Ans: §
2 The table below shows the charges for renting a bicycle.
Days Time Charge

7a.m.to5p.m. $4 per hour
5 p.m. {0 9 p.m. $8 per hour

Satand Sun | 7am.to9p.m. | $12 per hour

Mon to Fri

On Friday, Mr Wu rented a bicycle and returned it at 6 p.m. He paid a
total of $24. For how many hours did he rent the bicycle?

Ans: h




Ji Min saved some money in April. She saved $2.50 per day for 20
days. She then saved $3.10 per day for the rest of the month. What
was the average amount of money she saved per day in April? (There
are 30 days in April.)

Ans: §

Dana bought an oven from Shop A at 15% discount during a sale. The
price of the oven was $800 before discount at Shop A. Hailey bought
an identical oven from Shop B at 20% discount and paid the same
amount as Dana. What was the price of the oven before discount -at
Shop B?

Ans: §




5 The figure is formed by 5 straight lines DF, EH, EG, FH and DG.
Find ZEHF. : : |

Ans: °




For questions 6 to 17, show your working clearly and write your anéwers in the
spaces provided. The number of marks available is shown in brackets [ ]at -
the end of each question or part-question. B (45 marks)

6 In the square grid below, AB and BC are straight lines.

" (a) AB and BC form two sides of a thombus ABCD. Complete the
drawing of the rhombus ABCD. N [1]

(b) AB also forms one side of a trapezium ABEF. AB is parallel to EF.
The length of EF is twice the length of AB. DAF forms a straight
line and AD = AF. Complete the drawing of trapezium ABEF such
that it does not overiap with the rhombus. [2] .




7 Peter had $18.20 less than Jane at first.  After Jane gave some of her

money to Peter, he had $29.20 more than her. How much money did
Jane give to Peter?

Ans: [3]




Kira had a roll of blue paper and a roll of red paper. The length of the

1
roll of blue paper is 2 the length of the roll of red paper. She cut the

roll of blue paper into equal parts of length 9 cm and on each part she
drew 3 star shapes. After that, she cut the roll of red paper into equal
parté of length 7 cm and on each part she drew 5 heart shapes. What

fraction of the shapes Kira drew were star shapes?

Ans: (31




Fourtowns A, B, Cand D collected-plastic bottles to be recycled. Town
A and B collected an average of 324 plastic bottles. Town B,Cand D
collected an average of 344 plastic bottles. The total number of plastic
botties collected by all 4 towns was 6 times the number that town B
collected. How many plastic bottles did town B collect?

Ans: {3l




10

Mr Toh left Town B and drove to Town C at 11 a.m. at a constant speed
of 60 km/h. Mr Lee left Town A at 12 noon and drove to Town Cata
constant speed of 80 km/h. Town A and Town B were 15 km apart.
After travelling from Town A to Town B, Mr Lee then travelled to Town C
along the same route as Mr Toh. At what time did Mr Lee catch up with
Mr Toh? ' '

== N ==

fimt- — — —fiim - Il

Town A Town B | Town C
Ans: {3}




11 Tank Y and Tank Z are two rectangulartanks. At first, Tank Y. contained
some water o a height of 42 cm and Tank Z was empty.

80 cm
Tank Z

(a) What was the volume of the water in Tank Y at first?

Ans: (a) {1]

(b) Kanthea poured some water from Tank Y into Tank Z. After that,

2
Tank Y had 5 as much water as Tank Z. Find the height of the

water {evel in Tank Z.




12 A rectangular block A was cut along the dotted line into two smaller
rectangular blocks of equal height, B and C, as shown below. The
volume of block B was 4752 cm?® less than that of block C.

4
4
4

e i e v
>
w
o

9cm
32cm 5cm 27 cm

(a) What was the height of each block?

Ans: (a) [2]

(b) Matthias packed 12 of block C such that they fit exactly into a box
with a square base. The box had the same height as block C. At
most, how many of block B ¢an be packed into such a box?

" Ans: (b) [2]

10
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13  Ji Eun filled a tank with water using two taps, Tap A and Tap B. She
tumed on Tap A first. After 10 minutes, she tumed on Tap B. Both
taps were tumned off at the same time when the tank was completely
filled. The graph below shows the amount of water in the tank over

45 minutes.

22

20
18

N

16— - —

14
Volume . _ /
‘ of "12 /
Water 10 +

(Litres) 3 :
6 /

. 7
0-/ 4 "

T R L N N T P TR T Y

Time (Minutes)

(a) What was the capacity of the tank?

Ans: (a)

35

{b) How many litres of water flowed from Tap B per minute?

Ans: (b)

45

[1]

(3]

11

Aot

-



14

Mariam had some gold, some silver and some copper tockens for a
camival. The ratio of the number of gold tokens to the total number of
silver and copper tokens was 10 : 9. The ratio of the number of silver
tokens to the number of copper tokens was 3 : 1. She exchanged 12
gold tokens for a stuffed toy and some silver tokens for a jar of marbles.
In the end, the ratio of the number of gold tokens to the number of copper
tokens became 4 : 1 and the ratio of the number of silver tokens to the
number of copper tokens became 4 : 3.

(a) What was the ratio of the number of gold tokens to the number of
silver tokens to the number of copper tokens Mariam had at first?

Ans: {a)' (1]

(b) How many silver tokens did Mariam exchanged for the jar of
marbles?

Ans: (b) £3]

12



15 ABC s a triangular piece of paper with AB = AC. ZBAC =95°., AEB

and BDC are straight lines.  The paper is then folded along the fine DE
as shown below. :

- L8
B D | c

Before folding After folding
(@) Find £x.
Ans: (a) [2]
(b) Find 2y.
Ans: (b) @
‘1.3

w0 TSRL L -



16

A shop sells four types of muffin. The bar graph shows the number of
each type of muffin sold by the shop. The bar for the number of banana

muffins sold has not been drawn. The number of banana muffins sold

3
was — the number of vanilla muffins sold.

5
R

a0

80

70

60

Number 50
of

muffins 40
sold

30

20

10 =
0

Chocolate Vanilla Strawberry  Banana

(a) How many banana muffins were sold?

Ans: (a) 1]

14



¢

(b) The table below shows the prices of the muffins‘.

——

Type of muffin Price per muffin
Chocolate - $0.85
Vanilla $0.70
Strawbeny ' $1.35
Banana : $1.20

From the sales of which type of muffin did the shop collect the most

money? What was the amount of money? .

Ans: (b) Muffin:

Amount:

(c) Each of the statements below is either true, false or not possible to -

(2]

tell from the information given. For each statement, put a tick (v)

to indicate your answer.

Statement True

Faise

Not

possible

to tell

The number of chocolate muffins sold
was 62.

The ratio of the number of strawberry
muffins sold fo the number of strawberry
muffins left unsold was 3 : 2.

The shop sold 46 boxes of 5 muffins.

[2]

i5




17

The figure below is made up of a semicircle, 2 identical quarter circles
and 2 identical right-angled isosceles triangles, ACB and ACD.
CA=CB=CD. Oisthecentreofthecircle. AOC and BCD are straight
lines. Find the total area of the shaded parts.

(Take m = 3.14)

28 cm

Ans: ' [5}

End of Paper

16
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3 in the number Ene below, what i the value of Y as Indicated by the

HTOW?

3-0125 L} L} T T L] 8-1115 13 1 i

Y
M 81 f-_']f_‘_i};‘ff__ = 0-°%
@ 8145 b &
@ 8460 3) = 0-015
I gins & (0.015%3)
= .15 + p-o4S= §-1§0Gms)

4 Which pair of ines kn the square grid are paralel?

/

H --.._._______-_._.-‘_-‘ E
F
{1} AHandBE
(2) Gland AT
(%)
(3) ABandHF

(4) BDandEF

Maka your chokce (1. 2, 3 or 4) and shade your answed on the Optical Answer
Sheel,

{20 maries)
|‘ -

§

Round 748 850 to the nearest hundrec.

e O .
(15 748 800 148 %50 % T48 F0O (ans’
{2) 748900
(3} 748950
v L2)
4} 748 00C he
2 10hundredths and 75 thousardths Is
4) 0085 Lo e
“ 100 * jood
0175
ot @ =010 + 0-015
-]
@ oreo = 0:1175 (ans) 2)
4 0850
5  BCEand DABer straightfnes. Find <DAC.
=3
A
Aoe A8
B / c
go-tg*
) 14 Lé?."
@ 1’\2) .
o™ 2-3% 18085 G°
® - lgr"—qy°
{4 o2* - ggo
&  PORS s  tapectum and RSTU Is a pasaficlogram.
S
R

Which of the following pair of ahgles gives a sion of 180°7

m
@
&
“@)

ZOPT and APFTU
ZTSRard LUTS
LTUR and £TSR
£PQU end LZURS

@)



¥ Which two of the fotiowing are nats of a ciuba?

N .

-
RN

- o |
A B [+ o
(1} AexdB E
{2} AadC '
3 BadC B)
4 CundD
3 Hufting had $z, Rarvl had twice es mueh money as Huling.  Jas had

$5 more than Ravl. H.las had $10, how much money did Huling have?

HI'_'-—) F=

{n 330 R —2x%r=$2z
@ st O D&2z+8$5
&8 B 2z 45 = O
@ s250 2z 2 {0-5

=5

- 5-3:'2-
=23.6

&)

10 Which of the following [ licely to be the of n bench in the
longth school

(1) 18cm

) 18m

# im

(3

11 Wh!dmfﬁmfolmrhgﬁ:sﬁomlscbﬁdbg ?

0]

3
o§  f-2-k

5 85w g
@ s o %Ehﬁ’*%%;;/
® I BV a¥ 3 s 1

3 st T ETE

"3

T

1

‘The plo charl shows the number of Jour types of drinks sokd in the

Which bar graph best ropresents the informabon in tha ple chart?

)

Number
of drinks
sokf
[>3
(2)-
A B c D
]

Number
of drirfics

=

@ .. ‘

Number
of drinks
soid

0)

-A- . . B & 0

12 Tha equam grid shows the pesiiona of the bulldings U, ¥V, W, X, Y and
FA

f___l‘.:hfisﬂm's House

Chelstine stands at a jocation south-west of har hoose and ofe
building. Whan facing sputh-east from Christine’s koeation, sha sess a-
buding. What Ia that buiding? 10

W BukdroW
@  Buldng X
9 BukiogY @)
(4) BukingZ



13 What s tha kength of the pancit shown below? 14 Viv, Wendy and Xinyl each had some beads. They eschused the same

1
number of beads o maks a nockiaca. unsed;_;‘o!herbeads.

fem ¢ B W R ‘ wmm%otwmmwmgofmrm. What
LLIIO',T 2237 '-. fus -vas ihe ratio of the number of beads Yiv had at rst to the number of
. [._..._—;——-_55 ’ .
H i sezds Wardy had 2t first bo the number of beads Xinyl kad at firs{?
o 4 1 ! 1
| ( )}' A s R
b i ItH t + . 3 Far, ®zp xxf
here—r b4 =
753528 : @ 3 8 . 4 Y, Rl 28
i sy i : @ & oz ;o1 W3R = 2ty
dm 5 § 1 8 . o s w | x3
O 4 H :
- v W 2y l i (%)
2.542-72 52
{1} 52am 45  The first 7 numbers of a number pattem are given below.
— N TR T
{2) S4om ( 4.1&.3.&\‘.-_1_6)4.32....
l 1= ™
@) 58cm . D \“"g{ *2
{4y 10.7cm What is the 13% number? - .
. ]
W 1z 3 —> pdd  aumbtr,
‘ use  paiteen
258
2 4-_.19__'_115’__,_
@ 512 By 3rd st
(9 1024 Bt X2X2X 2R ZR2X2
= hxe
=2 (2)
b
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stated, (5 marks)
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18 Them are 5 ehaded squares In the Fgure, Shade 5 mom squares 1o
fonnasymmﬂ-icﬁ@.wammXYaanﬂmofsymmehy.

a

X - —_— Y

19 Tho solkd beiow Is made up of 1-cm cubes.  What Is the volume of the
sold?

e r—

Queations 21 1 30 carmy 2 marks each. Show your working clearly and writs
yoursnawers In the spaces provided,  For questions which require tnits, give

20 Pamindars'ackedumﬂuibesmghedﬂm;nwgamcrtofomm

Frontview ™ ° Sldaviaw

Draw the skia view of the solid on the grid balow,

Side View

Fa Ammmmmmmmnﬂdmmzmhm
mhlnﬁnnmwammmhmmbmdmws
seconds, Hﬂhuﬂdmbﬁknmhmwnmymhhrwmﬂw
el biink kogether agakn?

2—52,% (,8 0 ... 20,22 6
32— 356,2,12... . 12, ?-',@

g D)

()

22 Mrlewpsid $78.50 for a palr of shoss and $19,.50 for & towel,
{x} How much did he spend silogeter? Round the answer 1o the
noarest doller.

378-59+211-9 = $98 %9
¥ A$9E (2)

a8 AR

{b) Find the costof 30 such towels,

Qlﬁ-‘toécso =& 1-99x 3 xt0
. F 45070 X0

= 3897 {ans)
. A () 8 591

23 Adaycamnp ksted 8 h 20 min The day camp siartad 1 h 45 min before
the snack break. Snoack break was at 11.30 am, What time &d the
day samp end?  Glve yotr anSwer in 24-how codc.

Lh #8kia
} —
q-”ﬁh-ﬂ . “-30..... . G‘Urp,nv

( I1eos )
Cms)

s, 18 OS5




mm.mmm«wwmwmmw
lnm.mmmmmmhqmmmyandm
saved $180 more par month, What wes the porcontage Inaease i
Maggie's monthly savinge?

26, 2503
feg

= poc¢

1o 100% | 307,
boo

Ans: . ‘30%

T oas Thero ware 1338 big bt and 7582 small birs in 2 factory,  The buns

wara packed Inke bags, Esch bag contained 1 big bun and 8 smal
buns. mwhmmumﬁ:ﬁmmﬂum

TAE82 %L = 1330RL

-
1330 losc Hhan 1338

L
{ens)

A 1330

28 Inthe figus balow, KLMN Is & trapezium and LM s parael fo KN.

LLMN = 45" ard zmagma £MIC Find ZMK

ws R
Zotieles | A ety
3w = 1B0-ER
=135~ .
b ‘—'5133::3 s X .

Mmchmsouédberapmonh‘mchy. Sheaoidgufma
ramaining apples on Tussday, MCheuhadﬂapplesleﬂmer
saihgapplasmMoMaysndTueaday._ !—bwrnanyapple-.-dldms
Chen have a1 fist?

w4l —>

U . T

MO A

_ { 1.
e Tw ¢ —>

e 3240

H23 222
2xs=43 C?msj

fo

are b

Ma:;lmdamliofrbbonwithaldallumdi m. Sbecl.ltoﬂ'-;'mof
wmdmm%mmLMmMWMWWEd%mm
ribbon did Masy hawe in tha end? ’

]m"é"‘;g‘-m
L. k.8
ERR I S s
-5

W
T 0~
s
SN
L

lﬁ

x4

29 ABEFand BCOE are peraflelograms.  2FAB = 114%. and LEBC=TB-,
Find £DEF,

-

={o2"°
Yo r0p -l s i lans)

ol

Pem Bakery vses m kg of sugar sach morth.  Pam Bakery uses 30 kg
more sugar then Swost Bakary sach mwomh.  If 7 = 100, how many
Kiograms of sugar do Pam Bakery and Sweet Bakery use In total for one
yaar?

PaM-—, M
o —2(m - 30) g

mAm - 350 >2m~->0
=Rx 00 >0
=200 ~30
={7e
(7ox12.= R0¢0Lans)

o J0E0

End of Paper
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INSTRUCTIONS TO PUPILS

1. Do not tum over this page until you are told 1o fn so,
2, Follow all Instructions carefully. .

3. Anewer all questions.

4. Writs your answers in {8 backlst.

Cluestions 1 & 5 cany 2 marka sach. s'howyowmﬂdngdnwlyandm *
your answers In the spaces pravided.  For questions which requirs units, give
your answera in the Lnks stated, {10 marks)

1 The origiral price of @ book was Sk Davd botght 15 such Books,
After he was given a discount of $10, ha pald a total of $110,  Whatwas
the originat prica of ane such book?

15k —jo= 110
'Sk =z lotte
SN
K= 129445
-8 -

ans; §_8

§. The use of an approved calculator ts alowed.

Name: ( )

Clags: Primary 6 ( }

Parsats Signature: BookletA 120
Booket B i25
Paper2 ) 55
Tokal 1160

Piease sign and retum the-examination paper the next day. Any queries should

ba'ralod &t N tmovhelt reliing pager. - -~

3 4 Min saved some maney b ApriL She aeved $2.60 par day tor 20
dmmsmmmdn.ibwdlyhhndﬁhm What
was the average amount of money she. saved hAp#? (Them
ars 30 days In Apr.) por sy

20% 2.50= 50

lox 3.ip = 31

S50+ 31 =8f
5‘[—:—3a= 270

.~ .

Ay 270

4 DansbwghtmwmfmmshopAaHs%dkcomMrganb.m
Prica of the oven was $300 befors discourt ot Shop A, Hatey bought
mbuﬁpdmnﬁthfanathhwgmwpddthem
amowt as Dana, mmmmwhmmmm

Shep B7
D fw'.(-—; &7 r oo
= 85 _$%0»
teo
= $'550

A‘g%& i{liu-vléﬁl 20}2)
Helyy pud 803 4 3420
%‘ZZ shp 8> G #00 = $f50
A s_850

4 mmmmmmfmmam N

L [ TambSpat 34 par hour
Spmitodpm. | $8periour
7amisBpm, | $12perhour

On Friday, Mr Wu ronted a bicycle and retumed it at 6 pm.  He pald a
ialof 324. For how many hours Gk he rent the bicycie?

F2U B8 < WE (B85 (4 bobstsn S, st ..
F= 344 (44 bedt Spm. )
I+4 =5

3 The fgurs. fs fermed by & straigit lnes DF, EH, EG, FH and DG,
Find £EHF. .

h AYES, 2D - 80 120718

= 42!
h A KEW, ) pups M- 106042
- 220 L
o 22 .




Forqwsﬁomlbﬂ.#wmmmmwwmmmlnme : 18.20 fess than Jane ot first.  After Jane gave some of her
spaces provided. mmwmmsehsnmhmx Tat 7 ‘megﬂmmmmmmm_ Haw much moneay did

the end of each question or pert-question, (45 rmacks) ive & Peter?

.
a

€ In&nsquaregridbﬂow.ABaMBCareMghﬁm.
{a} AB and 8C form twa sides of a tombus ABCD, Compiea the $12 96 » 329.20 ¢ g4, 2,
drawing of the rhombus ABCD, i )
. ¥4 ~ 2 =223 70 .

{br AB also forms one side of 2 trapazkm ABEF, AB s parallel to EF.
e lngth of EF s bwica the length of AB.  DAF forms a etrlght
fing and AD = AF, Compiets the drawing of trapexium ASEF such

that it does not overiap with the thombizs, P
- ,
/n—"
C " B
L g Py o g A
RS o
D
4 5
B 2 had a 1o of bive paper and a ol of red paper.  The length of the 9 FourtownsA, B, Cand D collected plastic botties i be recycled.  Town
1 A and B colieciad an average of 324 plastic bottes, Towm B, Cand D
¥R of biua peper ks 5 the fength of the roll of rod paper, She cut the collectad an aversge of 344 plastic botties,  The iotal number of plastic
T —— b et %4 i
drew 3 star shepes. Aftor that, she: cut the rofl of rad paper ivo acuat
mofbmthTunmdmmm:chdeShudshpe& What
#acﬂonofhsdﬂpas!ﬁ'admwwemlhrﬂw A + B = I%x37% = é({.?
) Blue @ Red ' B+cC +D= 3x3¥E= |o3)
2
For# ’ D+ BB EC D ° 6% 8+ 22
4x7 : 2x(9x7) /! ‘ = 1tgo
I
63 : 126 ¥t AL R ECAD - 6B
1 ‘:7 v '
1 - '—"Q.,.g.;-c.-s-b-t-a -
Pects 18 . 6z e
> e
() -
S\rufa = l68e
AN Ao . B oz léw 1)
: 2%e
AV 9y
21490 T 1y
21
An L1y o A 2%0 -




10 wTohleﬂTmBmdmvuanmcmﬂmatnmtspaed
of 80 kvl Mir Lo Jaft Town A at 12 roon and diove 1 Town C ata
constarg spesd of 83 kmvh. Town A and Town B ware 15 km apart,
After traveling from Town A to Town B, Mr Lee then trevelied to Town C
along the same rout as Mr Toh, At what tima did Mr Lea caich up whh

M:Toh?
m__.__m__;____.m
Town A Town B Town C

Whn M Ue left Toon & b (2 noon,
e Th waldd be a digtance aomy

O£ C -
15k + ([ Spuon X Tiery )
= l.gba‘:-(- CGOE‘«”\. X “'\)
= 184t . Eotm
= - TIsSwR
Dloece o Hher speed
R0km[h- Gown (b
M 9_0\@\”\
Time need P Melee Ao o.;.[t.i-\l-f‘.-
ISk % 2ok fh = 3EK
3&1\ o, Romn s BASPEM.
Ans: 3-‘{-5‘.1'\. =1}

12~ AWMAmmmhmnmmm
maotanguiar biocks of aqual height, 8 and C, ae shown belaw., The
velume of block B waa 4752 cm® jess than thet of biock C.

s
Bom d
Som

A2em

ZTem
{2) Whatwasthe helght o cach block? -
277-5 =22
U152 3 (22xq) = 152 T 148
= l‘f‘mfans)

N P . S

{b) Meithias packed 12 of block C such that thay i sxactly nto 3 box
2 3quarn base.  The box hed the samb height es blotk C, (L)
. _rrmyofbloekanhepndudhbwdubm

@7x9x 12 20 B '

NECTRR : -
St
qKéaﬁf-.. P
fox1=10
Y 0=t Qs [
A RERENINED

Ang: (b)

Jam

B i
6 B "

11 Tank Y 2nd Tank Z are two mctangular tankes.  AtSiral, Tark'Y comalned:
some water & a height of 42 cm and Tenk Zwas empty.

80 cm
TankY - Tank Z
{a) What was the volume of the water In Tank Y at first?

4‘0"25)(‘4’-2 T 42 ooo

x
s @) F2O0Cm

(b} Kanthes poursd zome water from Tank Y into Tank Z.  ARter that,

Tanthnd-:-nﬂm:dlwmraskaZ. Find the helght of the

wator level in Tank Z
Tode s Tonk 2 ¢ Toead
2 1 5 7]
‘:,!q —z 4.0, 900
W —p 42000 37
2 booo
Tankz> S = Sxbovo

ZpneoO
H&‘Ju' Volumsz 5 Base Pree

401 1-1 ":' C %xlﬁj
2.5 Am o) ___1Z.5cmr g

R TIE LO LT

13 . Eun filled & tank with wader using twe taps, Tap Aand Tap B. She
tumed on Tap A first  After 10 minuiss, she tumed on Tep B. Both
ftaps wers tumed off at tha same time when tha tank was compistely
fied. Tha graph below shows the smount of water in the tank over
45 minutes,

2
20 278
18 -
16 r . d -
14 =S Toph oad d
Volume 1Ty A e L
of 1 f
Water 10 4208 .
113 ] pd
d
8 =
4 .
z *
o } 3

O 5 10 45 20 25 30 35 40 4§
P s S

Zowmi

{a] Whatwas the capacity of the ank?
Tank Bilsd Bom 4% made .

ae o 208

(B) How many litres of water flowed from Tap B per minute?
Tﬁ'ﬁf - 22 A IQm-b
v G4 5 B0
7‘? A anrl Tafg-'b 182 ;5 Bo0un
T:? 6,\,,_9_,,, 30 —> 18L-6L =722
Tz —> 2L . 0420
v 30mun -A'm:/[b) 0__.&@ -

"



14 Maram had some goid, same sitver and some copper tokens for a
camival. The ratio of the number of gold tokens % the total rxnber of
sitvar and copper Wkens was 10 : 8. The ratio of the number of sthver
tokens o tha number of copper tokens was 3 : 1. She exchanged 12
goid tokens for a stuffed toy and some siiver tokens for a jar of marblas,
In tha and, the ratio of the number of gokd tokens ko the nimbar of copper
iokans bacame 4 : 1 and the ratio of the number of siver tokens to the

number of copper iakens becama 4 : 3,
123 What was the ratio of the rumber of gold tokens to the number of

slhver tpkens to tha number of copper tokens Martam hed at frst?
. Sfc S L TeA

Refire o 4, EREEEN
b0 3% g -3

G:%-C
4y 09 .
A [a) i’-_?.l-i_m

(o) Hownwsﬂmbﬁnsdﬂ%nm)geﬁbrmaprnf
marbles?

Prp{’ef G: C S:C

¢ | t:3
SML t‘.lw\ﬂc-—&v— Coppes,
3t 9 12+ 9
6G: 8:C
36 - 4
40“-3’:\4:4_”
44 =12
TR RVAL T Y4 A (D) __._45 -3

2TW- 12U = 15U
| Su-215=3°GS5 »

168 Ashop sels four types of muffin. The bar graph shows the nurnber of
" each type of muflin seid by the shop, The bar for the number of basana
muffins sold has not boen drawn. The nember of banana muffing soki

3
was 5 the number of vanilia muffins sokd.

20
80
==
8 —
—]
Nunber 5p ==
of p=— B
"”mu 40 —t ——}
20 —] =
- — —
= —]
10 _"'" f—
(] =] — =
Chocolale  Vinla Stuwbernry  Banana

" (@) Howmany banana muffing wera sold? .
' 3
Zx50. 4¢

15 ABC ls a Flanquisr pisce of papar with AB = AC, /BAC = g5°. AEB
and BOC are simight nes. Thpaperlsﬂmfuldedh!onaineDE

as shown balow. ’

g A .

3 ol KB X |
FSD [ [
: v

A A
E
g l ,(%-\\
~

; Eafors folding . ) After fojtding
I .
i {a} Find 2%
Ths 35 4r
Lx= 1807~ 82"
= Joot .
foo
Ans: (a) 121
®) Findzy. }
2hgc = (1#0°-95°): 9
= 495°
éj T 3o~ 42.5°
= 217.5°
prst ) 275"

13

{b) The table balow shows the prices of the muffing.

[ype of mudtn Prica per Frlfi
Chacolate $0.85
Vanhia .70
Strawbamy 3135
Banona $120

From the sales of which typa of muffin did the shop collect the most
money?  What was tha amount of meney?

Choolede = §2%90.85= £52.70
mille—> 80 x$0.770=-85¢

= 3o
Shuaben-> E8x 3. 55= 5/
KAM:?-——: Apx 192 = §57 s0v”

Ans; (B) Muffi Lenens
Mka’Zﬁo =1

{c) Eath of the stateinents below ks either true, false or not posaibis in
befl from the Information given.  For sach statement, put a tick (+)

o indicats your angwer.
Not
Statement Trus | False | possibie
o tell
The number of chocolate nwiffine sold \//
was 62, .
38 Shu The mio of the nimmber of strawbarry
wncBias L s sokd 1o the cumber of strawbery v’
38 sonf Avsle mutfies Joft unsokd was 3 : 2.
) i .
J3' The shop sold 48 boxes of 5 muffins. \/
2]

$Hxs= 230
B Al muldis sold wor 624 PO+IPetf .o 228

16




kg Thoﬁgumbdowhmmofamddmb,zmrﬂcalquamr&das
and 2 ientical right-angled Isosceles friangies, ACE and AGD.
- CA=CB=CD, Qs the centre of the clrsla, AQC and BCD ae strajgirt

" fnea.  Fird ihe total area of the shaded parts,
(Take x = 3.14)

8 * [+ j D
——e—
28 e

e d e ot ERRA ’t W: /S3. 8¢

Aven J gl s> bxls, 1y . as

Aren ok WL fenf — 15326 - T2 S5.86

e of . g Tonge — 2 2y 28299
153. 8¢ Py =25/ 8
312 - 25185 = M40 4
Mol x 2 = 280.28

— L 2LEF . &€
P ol shodd puck » 33604

End of Paper
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